

NOTICE OF AWARD

October 7, 2019

The Manager
HARNWELL CHEMICALS CORPORATION
aBrgy. Day-as, Sikatuna St., Cor., Bonifacio, Cebu City

Dear Sir/Madam;

This is to inform you that bid proposal for the project: **PROCUREMENT OF LABORATORY CHEMICALS** which shall be funded under *Trust Fund* after having been post-qualified and declared to have obtained the Lowest Calculated Responsive Bid, has been recommended for award by the Bids and Awards Committee (BAC) of Central Mindanao University by virtue of *BAC Resolution No. TF-PB-19-044* and the same has been approved by the Central Mindanao University thru the undersigned for several items at the amount of *Five Hundred Ninety Six Thousand Three Hundred Fifty Eight Pesos Only (Php596,358.00*). You are hereby requested to manifest your acceptance of the said.

Relative thereto, and in accordance with the provisions of the documents and Revised R.A. No. 9184, otherwise known as the Government Procurement Reform Act and its Implementing Rules and Regulations, you are hereby instructed, the following documents with ten(10) calendar days from the date of your receipt of this Notice of Award to wit:

A. PERFORMANCE SECURITY

This is to be posted in favor of the Central Mindanao University, in the form of cash, manager's check, cashier's check, bank draft/guarantee confirmed by local bank, irrevocable letter of credit issued by a reputable bank, surety bond callable upon demand, issued by the Government Service Insurance System or any reputable surety or insurance company duly accredited by the Office the Insurance Commissioners, or a combination thereof IN ACCORDANCE with the following schedule:

FORM OF PERFORMANCE SECURITY	AMOUNT OF PERFORMANCE SECURITY (EQUAL TO PERCENTAGE OF THE TOTAL CONTRACT PRICE)
Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	Five percent (5%)
Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	
Surety bond callable upon demand issued by a surety or insurance company duly certified by the insurance Commission as authorized to issue such security; and/or	Thirty percent (30%)
Any combination of the foregoing.	Proportionate to share of form with respect to total amount of security

Within the same period of ten (10) days as indicated above, you are directed to enter into and execute the Goods Contract.

This Performance Security shall be forfeited in favor of the Central Mindanao University in the event it is established that you are in default in any of your obligations under the Contract.

Finally, it must be noted that you shall not commence the work nor initiate the procurement of materials for the project prior to your receipt of the Notice to Proceed.

ESUS ANTONIO G. DERIJ

President

Received, Acknowledged and Accepted:

Name: LORNA

Signature: Date:

Republic of the Philippines CENTRAL MINDANAO UNIVERSITY

University Town, 8710 Musuan, Bukidnon E-mail Add. bac@cmu.edu.ph; Website: http://www.cmu.edu.ph

OFFICE OF THE BIDS AND AWARDS COMMITTEE

CONTRACT OF AGREEMENT

REF. NO. TF-PB-19-044

THIS	AGREEM	ENT made	this _	day	of	October,	2019	betwee	n CE	NTRAL	MINDA	NAO
		f the Philip										
CHE	MICALS	CORPO	RATION	at Brg	y. I	Day-as,Si	katuna	St., (Cor.,	Bonifac	io,Cebu	City
Orien	tal (hereina	after called	the Supp	lier") of the	ie ot	her pårt:	in 1884 .	ie,				•

Whereas, the Entity invited Bids for certain goods and ancillary services, viz., PROCUREMENT OF LABORATORY CHEMICALS and has accepted a Bid by the Supplier for the supply of those goods and services in the sum of Five Hundred Ninety Six Thousand Three Hundred Fifty Eight Pesos Only (Php596,358.00) with the items listed below:

ITEM	UNIT	QTY	DESCRIPTION	OFFER	UNIT PRICE	TOTAL AMOUNT
	PHARMAF	ERN Proje	ct 3: AMG ANG	, pres	The party of the same	*
2	piece piece	1	Single channel pippetor, 1-10 uL, light weight, high precision and accuracy, autoclavable Single channel pippetor, 10-100 uL, light weight, high precision	DLAB, Single Channel Pipettor 0.5-10ul Large display window, autoclavable Precision and accuracy DLAB, Single Channel Pipettor10-100ul	5,500.00 5,500.00	5,500.00 5,500.00
	a de la companya de l		and accuracy, autoclavable	Large display window, autoclavable Precision and accuracy		3 N. C.
3	piece		Single channel pippetor, 2-20 uL, light weight, high precision and accuracy, autoclavable	DLAB Single Channel Pipettor 2-200ul Large Display window, autoclavable Precision and accuracy	*5,500.00 ********************************	5,500.00
4	piece	3	Single channel pippetor, 20-200 uL, light weight high precision and accuracy, autoclavable	g DLAB, Single channel Pipettor 2-20ul Large Display window, autoclavable Precision and accuracy	5,500.00	16,500.00
5	piece	2 /	Single channel pippetor, 100- 1000 uL, light weight, high precision and accuracy, autoclavable	DLAB,Single channel Pipettor 100-1000ul Large Display window, autoclavable Precision and accuracy	5,500.00	11,000.00
6	piece	2 /	8 multi-channel pippetor, adjustable volume, 1-10 uL, light weight, high precision and accuracy, autoclavable	DLAB,8 multi- channel pippetor 1Adjustable Volume 0.5-10ul Large Display window, autoclable Precision and	25,295.00	50,590.00

1				ассигасу,		-
ļ				autoclavable Precision and		:
l	1	l		accuracy		Ì
7	piece	2 /	8 multi-channel pippetor,	DLAB,8 multi-	53,000,00	106,000.00
			adjustable volume, 2-200 uL,	channel pippetor		120,000.00
		′	· · · · · · · · · · · · · · · · · · ·	Adjustable		
			light weight, high precision and	Volume5-300ul:	·	
			accuracy, autoclavable	COMPOSED OF:		
ļ				300UL Large		
	}			Display window,		
				autoclable		
				Precision and		
8	piece	2	Single channel pippetor, 500-	accuracy, a BOECO,Single	10,500.00	21,000.00
	piece	- /		Channel pipettor	10,500.00	22,000.00
		/	5000 uL, light weight, high	500-500ul,		
			precision and accuracy,	autoclavable		
			autoclavable المحادثة على المحادثة على المحادثة على المحادثة على المحادثة على المحادثة على المحادثة المحادثة ا	Precise setting and accurate		
			The state of the s	and accurate aspiration		
9	piece	1 / 4	Single channel pipettor, long *	DLAB, Single	5,500.00	5,500.00
	•		nozzle, 20-200 uL	Channel ' 🦠	<i>*</i>	
40				pipettr,20-200ul		
10	piece 🚙		Single channel pipettor, long	DLAB,Single Channel	5,500,00	5,500.00
	21 - \$ 10 ²²	. K.	nozzle, 100-1000 uL	Pipettor,100-		
	V*	200		100ul	* * * * * * * * * * * * * * * * * * *	
	***	to te	The second secon	There are the same	a series of the	232,590.00
LOT 1	0 CMU-C	HED IDIG	Q.CURAYAG ABC= 394,704.00	allen i r		
1 75	set **	.2	Alcoholmeter Hydrometer set	Alcoholmeter : 3	15,600.00	31,200.00
± ,,,,,	3 €€ √ 35	1		with 🖟 ,	Married Brown	\
F **	" Tark also and		(3pcs, Per set: 0-40%; 40-70%;	Thermometer,		
	V	A STATE OF THE STA	70-100% alcohol) with	RED LIQUID,		١,
1	Startist and		Thermometer	FILLED (3 SETS)		* • -
2	pair ·	200	Petri Plates	PETRIQ	115.00	23,000.00
المجافحة	16.15.	. 7	100x15mm(borosilicate glass, 3.3.	and in	· · · · · · · · · · · · · · · · · · ·	# · ·
. A	**.		branded)	S ě k		ب نہ
3	piece "*	6/	-1000mL Volumetric Flask	PYREX*	1,700.00	10,200.00
٠,	hiece "	1 - 1	(horoillanta glass brandod)			;
#	***		"(borosilicate glass, branded)	PYREX ~ ~ ~	76	4,200.00
4	piece	6 /	.100mL Volumetric Flask	PTREA :	700.00	4,200.00
بْر	•	19	(borosilicate glass, branded)	, ,		*
5 🐔	piece	6 /	500mL Volumetric Flask	PYREX	1,470.00	8,820.00
	· E		(borosilicate glass, branded)		and the same	4.5
6	piece	10	125mL Erlenmeyer Flask with	PYREX	615.00	6,150.00
)		caps (borosilicate glass,	1	79 /6 and	
		ン	Auge 1.52 To		7. 75	
		2.4.0	branded)	PYREX	315.00	3,150.00
7	piece #	10	250mL Erlenmeyer Flask with	i inta	- 313.00 As-	5,220.00
		. /	caps (borosilicate glass,	- ig	approximation and	
		7 10	branded)	at the terms of the	4.	
8	piece	10	300mLErlenmeyer Flask with	PYREX,500ML	325.00	3,250.00
		/-	caps (borosilicate glass,	The state of the s		
		,	branded)			
9	piece	5	500mL Erlenmeyer Flask with	PYREX	325.00	1,625.00
9	piece		*			<u> </u>
		_	caps (borosilicate glass,			
<u> </u>			branded)	nunc:	054.00	2 552 66
10	piece	3 //	10mL Graduated Cylinder	PYREX	851.00	2,553.00
			(borosilicate glass, branded)			
11	piece	3	100mL Graduated Cylinder	PYREX	1,030.00	3,090.00
	,	3/-	(borosilicate glass, branded)			
12	nioco	3 //	500mL Graduated Cylinder	PYREX	1,800.00	5,400.00
12	piece	3 /				,
	 		(borosilicate glass, branded)	DABEA	2,410.00	7,230.00
13	piece	3 /_	1000mL Graduated Cylinder	PYREX	2,710.00	,,230.00
		17	(borosilicate glass, branded)			
14	piece	10 /_	50mL Beaker (borosilicate glass,	PYREX	380.00	3,800.00
			branded)		'	
	·				-	

15	nines	10 4	250-1 D 1 // //	nyney	400.00	T
12	piece	10	250mL Beaker (borosilicate	PYREX	400.00	4,000.00
-			glass, branded)			
16	piece	10	500mL Beaker (borosilicate	PYREX,600ML	600.00	6,000.00
<u> </u>			glass, branded)		′	
17	piece	5	1000mL Beaker (borosilicate	KIMAX	850.00	4,250.00
<u>L</u> .	<u> </u>	′ ′	glass, branded)			
18	piece	6	Glass Pipette 1mL(borosilicate	MBL,Measuring	253.00	1,518.00
		/-	glass, branded)	ļ	/	j
19	piece	6	Glass Pipette 5mL (borosilicate	MBL,Measuring	267.00	1,602.00
	,,,,,,	/-	glass, branded)			,,
20	piece	6	Glass Pipette 10mL(borosilicate	MBL,Measuring	288.00	1,728.00
20	piece	1	· · · · · · · · · · · · · · · · · · ·	marjin casaring	/	1,720.00
21	nioso	2 /	glass, branded)	MBL, Volumetric	630.00	1 900 00
21	piece	3 /	Glass Pipette 50mL (borosilicate	Pipet,50ml	630,00	1,890.00
			glass, branded)			·
22	piece	100	16x100 mm Test Tube	KIMAX	32.00	3,200.00
		/ /	(borosilicate glass, branded)	· 3,	,	
23	piece	100	16x125 mm Test Tube	PYREX	42.00	4,200.00
		1	(borosilicate glass, branded)			
24	piece	100	18x150 mm Test Tube	PYREX	52.00	5,200.00
	€ ¥;÷		(borosilicate glass, branded)	1).		
25	piece	100	20x150 mm Test Tube	PYREX24X150M	85.00	8,500.00
	ign details to	/	(borosilicate glass, branded)	M		ı
26	piece	12	Watch Glass (75mm)	PYREX	370.00	4,440.00
20	piece	1 / 100	(borosilicate glass, branded)	The state of		
27 31	<u></u>	40		PYREX	400.00	~4,800.00
27 n	piece	12	Watch Glass(100mm)	rineA /		4,800.00
	/		(borosilicate glass, branded)	.»		}
28	piece	30	Crucible and Cover 30mL,	CHINA ',	116.00	. ₄ 3,480.00
			porcelain		A. 150	_{max}
29	piece	20,	Crucible and Cover 50ml	· CHINA	195.00	3,900.00
.55	હું .		porcelain			, ,
30 🗼	piece 🖧	6 # 1	Reagent Bottle 100 mL	BOECO	360,00	2,160.00
37" }	v		(Transparent, autoclavable,	Section and the section of the secti		
.3",			Borosilicate)		The state of the s	
31	piece	3	Reagent Bottle 1000mL (Amber,	BOECO	2,734.00	8,202.00
ž	1		autoclavable)	a de la companya de l		Employed .
32	piece	6 /	Glass Funnel 75mm(borosilicate	PYREX 2	810.00	-4,860.00
	F		glass), branded)		sa g≢i Zi ini	
33	piece	6	Alcohol Lamp	LOCAL	350.00	2,100.00
34	4: *		Evaporating Dish	CHINA,75MM	280.00	3,360.00
	piece .	12 /		REC ****	240.00	2,880.00
35	piece "	12 /	Stirring Rod (6mm x 12")	MBL,ACID/BASE		8,516.00
36	piece	2	-Burette for acid (50mL)	BURET,50ML	4,258.00	9,310.00
37	piece	2	Burette for base (50mL) 📳 🐉	MBL,ACID/BASE	4,258.00	8,516.00
			The state of the s	BURET,50ML	,	240.00
38	piece	12 /	Glass Dropper	1Mt*se	20.00	240.00
39	piece	3 /	Spatula (porcelain)		190.00 /	570.00
	i		Laboratory Apparatus			-
40	pair	6 / -	Crucible Tong	300MM	380.00	2,280.00
41	piece	7 /	Dessicator 12" - 15" diameter,	DESSICATOR,GLA	4,800.00	33,600.00
	•	1	Heavy Duty Glass	SS,240MM WITH PORCELAIN	'	
			<i>'</i>	PLATE, CHINA		
42	piece	3 / -	Forceps, regular, small	•	180.00 /	540.00
43	piece	3 / -	Forceps, toothed, small		120.00	360.00
44	piece	3	Iron Clamp (3 prong)	IRON CLAMP	1,780.00	5,340.00
¬- ,	piece	1 / /	non clamb (a brong)	WITH BOSS		·
4=	<u> </u>	_		HEAD	1 210 00	3 030 00
45	piece	3 /	Iron Ring	IRON RING WITH BOSS HEAD	1,310.00	3,930.00
46	piece	3 //	Iron Stand		1,000.00	3,000.00
	P.000			L	<u> </u>	

47	piece	1	Micropipette pipettor adjustable volume 1mL-5mL	DLAB	5,250.00	5,250.00
48	pack	3 /	Pipette Tips for 1mL, yellow (100 per pack)	BOECO,COLOR	500.00	1,500.00
49	pack	3	Pipette Tips for 5mL, blue (100 per pack)	TICKI	2,500.00	7,500.00
50	piece	3_	Rúbber Aspirator	BOECO,WHI TE COLOR,1- 5 ml, 100/pack	1,150.00	3,450.00
51	piece	50	Rubber Stopper For Test Tubes (No. 7)		50.00	2,500.00
52	piece	5	Test Tube Brush (Short handle)	Test Tube brush, small	40.00	240.00
53	piece		Test Tube Brush (Long Handle)	Test Tube brush, large	51.00	306.00
54	piece	12.	Test Tube Holder	y ("A)	180.00	2,160.00
55	piece	3-	Glass Thermometer (Alcohol)	china /	350.00	1,050.00
56	piece	3	Digital Food Thermometer (Heavy Duty)	alla-france, special bakery digital thermomet er CAT#91000- 042/F	990.00	2,970.00
57	piece	6	Wash Bottle 500mL	AZLON	271.00	1,626.00
58	piece /	1	Refractometer (0-32Brix), (0.2% Accuracy)	ALLA- FRANCE	14,920,00	14,920.00
5 <u>9</u>	pjece 🏃	1	Refractometer (28-62Brix), (0.2% Accuracy), (10-30% ATC)	ALLA- FRANCE	14,920.00	14,920.00
60	piece		Wire Gauze	*	95.00	/ 1,900.00
61	piece	A Company	Micropipette pipettor adjustable volume 0.1 mL-1 mL	DLAB- DPETTE100- 1000ul Digital Dsiplay	40,646.00	40,646.00
	i Se	2 m.	Digital Display	- A	e gust the	363,768.00
	>	* ·	volume rănge 1μL _ 10mL		ing to the state of	<u>-</u>
			GRAND TOTAL	5	596,35	8.00

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to.
- 2. The following documents shall be deemed to form and be read and construed as part of this agreement, viz,:
 - (a) the Bid Form and the Price Schedule submitted by the Bidder;
 - (b) the Schedule of Requirements;
 - (c) the Technical Specifications;
 - (d) the General Conditions of Contract;
 - (e) the Special Conditions of Contract; and,
 - (f) the Entity's Notification of Award.

- (i) the Technical Specifications;
- (j) the General Conditions of Contract:
- (k) the Special Conditions of Contract; and,
- (1) the Entity's Notification of Award.
- 3. In consideration of the payments to be made by the Entity to the Supplier as hereinafter mentioned, the Supplier hereby covenants with the Entity to provide the goods and services and to remedy defects therein in conformity in all respects with the provisions of the Contract.
- 4. The Entity hereby covenants to pay the Supplier in consideration of the provision of the goods and services and the remedying of defects therein, the Contract Price or such other sum as may become payable under the provisions of the contract at the time and in the manner prescribed by the contract.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

The Common Seal of CMU, Musuan, Bukidnon was herein affixed in the presence of DR. JESUS ANTONIO G. DERIJE

Signed, sealed, and delivered by HARNWELL CHEMICALS CORPORATION in the presence of LORNA MICHAELA D. ALCAZAR.

Binding Signature of Entity

Binding Signature of Supplier:

LORNA MICHAELA D. ALCAZAR

Authorized Representative

Witness:

ALAN P. DARGANTES
BAC Chairman

MARIA JAMELLAH CELESTE M. MAGALONA Chief, Accounting Unit

ACKNOWLEDGEMENT

REPUBLIC OF THE PHILIPPINES)
PROVINCE OF BUKIDNON
MUNICIPALITY OF MARAMAG).

Name *	Thy .	Competent Evidence of Identity 1 Competent Evidence Issued
JESUS ANTONIO G. DERIJE	The state of the s	· · · · · · · · · · · · · · · · · · ·
MARLOU B. MERCADO	· 10 3	The State of the S
75		and the state of t

Known to me to be the same person who executed the foregoing instrument and who acknowledge to me that the same is their free and voluntary act and deed.

This instrument refers to the Contract of Agreement consisting of (4) pages including this page, signed by the parties and their witnesses on each and every hereof and thereof, including this page whereon the acknowledgement is written.

	/
IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed on every page hereof my notarial seel this	day of
in the Municipality of Province of	
MACAR	AYALS

DOC. NO. 403 PAGE NO. 111 SERIES OF ACCUSED UNTIL DECEMBER 31, ZOZO

IBP NO. 001699 - 1-16 19 BUKIDNON

TR NO. 2764005-1-16-19 BUKIDNON

ATTORNEY'S ROLL NO. 61863



Republic of the Philip CENTRAL MINDANAO UNIVERSITY Musuan, Maramag, Bukidnon

NOTICE TO PROCEED

MS.LORNA MICHAELA D. ALCAZAR
Sales Representative
HARNWELL CHEMICALS CORPORATION
PhilGEPS Certificate # 2001-1374
Brgy. Day-as, Sikatuna St., Cor.,
Bonifacio, Cebu City

Dear Madam/Sir:

The attached Agreement having been approved, notice is hereby given to HARNWELL CHEMICALS CORPORATION FOR THE PROCUREMENT OF LABORATORY CHEMICALS, may commence after receipt of this notice but not to exceed \$1500 calendar days.

Upon receipt of this notice, you are responsible for performing the services under the terms and conditions of the Agreement and in accordance with the Implementation Schedule.

Please acknowledge receipt and acceptance of this notice by signing both copies in the space provided below. Keep one copy and return the other to the Bids and Awards Office.